Similar Shapes

é\

== REVISE THIS
TOPIC

1 Triangle A and Triangle B are similar.
N B Not drawn
A —— accurately
25cm
X
y
3cm
O
4 cm - 3 20 cm
XD

1 (a)  Write down the scale factor of enlargement from triangle A to triangle B. [1 mark]

No =4 5

Answer

1 (b)  Work out the value of X [2 marks]

Ix S

Answer \5 cm

1 (c) Workoutthe value of y [2 marks]

25 = 5
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2 Shape A and Shape B are similar.
5 B
A =|-
—~ 12 cm Not drawn
y accurately
6 cm 9cm
12 cm ~ X
X -5

2 (a) Write down the scale factor of enlargement from shape A to shape B. [1 mark]

4= b 1S

Answer

2 (b)  Work out the value of X [2 marks]

|2 x |5

Answer

2 (c)  Workout the value of y [2 marks]

2+ |-S

Answer 8 cm
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3 Shape A and Shape B are similar.
Not drawn
A B accurately
80 11cm
22 cm \__/’)
X005, |
3 (a) Write down the scale factor of enlargement from shape A to shape B.  [1 mark]
A
Answer O . 5
3 (b)  Work out the value of x [2 marks]
0\ X O ‘ S ('bf 0‘ - ’L\
Answer lJ‘" 5 cm
3 (c)  Write down the value of y [1 mark]

Answer 8 @ i
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4 Triangle A and Triangle B are similar.

=\

B Not drawn
accurately

8cm

15 cm 18 cm

X|-2
4 (a) Write down the scale factor of enlargement from triangle A to triangle B. [1 mark]

\%%\5 |-

Answer

4 (b)  Work out the value of a [2 marks]

R x\|- L

Answer q G cm

4 (c)  Work out the value of b [2 marks]

\L~170

Answer \ O

cm
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5 Shape A and Shape B are similar.
Not drawn
A X O .:)' S accurately
4.4 cm /_\ B
q 3.3cm
28 cm @ 1.05cm
p
5 (a)  Work out the value of p [2 marks]
13+44 =076
1L 8 x03FS = Q-
Answer g\ \ cm

5 (b)  Work out the value of g [2 marks]

'0S=035 = | &

Answer \ ' Ll’ cm

5 (c)  Write down the value of r [1 mark]

Answer q l
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6 Here are two rectangles.

Not drawn
accurately
42 cm
30¢cm 14 cm
10 cm
Show that the rectangles are mathematically similar. [2 marks]

b~ (0 =] Y

41~ 30 = |4
All sides have been {V\l.cluraul \03 e
same Scale fa dor sothe dapts e similar.

7 Here are two rectangles.
Not drawn
— tel
20 em lgm = | gocw\accura ely
60 cm 90 cm
Show that the rectangles are mathematically similar. [2 marks]
QD+ 30 = 7}
\$0+ 00 =7

A” Siit.s L\qVQ, b%&V\- {V\Lo\razcl \03 ‘(’irt,
Same Scole fa dor sothe shapes are simi lar.
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8 Shape A and Shape B are similar.
Not drawn
accurately
B
A
2cm
7cm Q)
4 cm
8cm
\7 20 cm
Work out the perimeter of shape B. [4 marks]

1W0=%:=25 Q-

?Qr\mehr% A
- x4+ VL +7F
= N0 uw

0xL-C = 3S
15

Answer cm
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